Prénom : ................................
Date : .........................................................................

CALCUL


Je calcule avec des nombres décimaux

(03)

1./ Pose en colonnes et effectue ces quatre opérations :

4 806,4 + 6 347,8 + 951 = ……………………


178,45 - 89 = ……………………



4 761,6 x 3,7 = ……………………


87 006,5 : 5 = ……………………



2./ Pose en colonnes et effectue ces quatre opérations :

50,478 + 6,3 + 684,07 = ……………………


763,25 – 402,7 = ……………………



54 307,6 x 10,4  = ……………………


4,875 : 5 = ……………………



